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There is a presumption that witnesses do not, etc. - 991 PR 7PN

OVERVIEW

n"7 maintains that the 7V are not believed to claim 11°°7 2°19p (even though
they have a q0Xw 119), since there is a 7P against their claim. The o221 who
argue and believe the 0°7¥, seemingly maintain that the 13 overpowers the
a1, Our mpoIn finds it difficult to accept that this is the interpretation of
their npYonn.

= 1999 19299 APIN DIPNA NN 13799N NIT ¥IYN NN
It seems from here that (according to n"7) we do not apply the power of a
w2, when the claim contradicts a 7 and according to the 129 we do

apply a 1mn even if the claim contradicts a 7pm. The 0>7v are claiming that they were
o1wp when they signed the 2uw. They have a 1an (really a 70Xw 719), that they did not have
to come and testify that 71 X177 °"n2>. Nevertheless n"7 maintains that we do not believe
them (even though they have a 1an), on account of this 7P, that 7wyl 2"XKR 121 27V PR
21732, which contradicts their claim. This proves that the power of 1pin is stronger than a
131 (according to n"7). Conversely according to the 2°n>n who maintain that we believe
the 07 in spite of the 7p1n, this proves that the 13 is more effective than the 7pm.”

mooIn has a difficulty:
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And this requires contemplation for this is a query in the first pa2 of
2''3; whether a 2 is more effective that an opposing 7P or not and this
X°¥2 was not resolved. The query there was —
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Regarding when the m%» claimed payment from the m> after the due date
and the M7 replied that I paid you already before the due date. In this case
there is a 1117 that a person does not pay his debts before they are due. This contradicts
the claim of the m> that >11 730 7°n¥19. On the other hand the M has a 13»; he could have
claimed that I paid you after the due date; in which case he would have been believed. It
is a apm Dpna wa. The question is” how we can reconcile our X3 that the issue is
resolved (albeit in a npY7nn) and the X3 in 2"2, which maintain that the issue is not
resolvable. NM201n does not answer this question.

! See, however, previous m>n 1"7 (2,7°) Moon footnote # 2.
* See ‘Thinking it over’.
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SUMMARY
In our X3 it seems that 11271 »n"7 argue whether we say npIm DIpna M.
However in 2"2 it is a RO WOR KT Xov2.

THINKING IT OVER

Is mpOIN question on the X3 in 2"2; why does the X723 there ask whether
we say 1pi 0P1n2 1 or not, when we see here that it is a np1?rn? Or is the
question on our X723 here; how can our X713 assume that "7 maintains 32
111K XY 7P 21Pn2 and the 1127 maintain that 312K 7R 23P1R2 13 when the
X713 in 2"2 claims that we cannot resolve this issue?’

3See v mx n"n 2.
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